
KTM 1290 SUPER DUKE R (’14-) 
FRAME SLIDERS

s a t o r a c i n g . c o m

part# KTM-1290FS

[R]

[L]

 1. SLIDER BASE [L]
 2. SLIDER BASE [R]
 3. SLIDER PUCK L100D  (x2)
 4. (pre-installed) COLLAR 10-Z (x2)
 5. COLLAR 5-10 (BK)  (x2)
 6. COLLAR 13-10 (BK)  (x2)
 7. COLLAR 43-10 (BK)  (x2)
 8. SOCKET HEAD M10×40 (P1.5)  (x3)
 9. SOCKET HEAD M10×45 (P1.5)
10. SOCKET HEAD M10×75 (P1.25) (x2)
11. SPLIT WASHER M10  (x2)

10

8

8

11

6

6

5

5

7

3

1

4

9

7

3

4

11

10

8

2


